Justin Beck

10/28/98

1st Chemistry

Chemistry Lab Questions

Observation Questions

1.) Find the mass of the solution reactants by substituting the mass of the empty flask from the mass before mixing (step 5.)

What is the mass of the two reactants?

The mass of the two reactants is 25.05.

2.) Find the mass of the products by subtracting the mass of the empty flask (step 1) from the mass after mixing. (step 8)

What is the mass of the products?

The mass of the two products is 25.04

Analysis &Conclusion

3.) What changes did you observe to indicate a reaction took place?

When the CuSO  was mixed with the NaOH  in the test tube, the substance in the test tube congealed and form a swirling mass of white and green, a sickly green but mostly a darker blue color was prevalent

4.) How did the mass of the reactants compare to the mass of the products?

The mass of the reactants was virtually the same as the mass of the products.

5.) Was mass conserved in this mixing?

Yes, the mass was conserved in this mixing.

6.)  Was this reaction a chemical or physical change?

It was a chemical change because the make-up of the substance changed visibly to something clearly different that what the two were before.

